DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Departmental Test in the Manual of

Name of the Firemanship for Officers of Tamil-Nadu Fire

Test: and Rescue Services - First Paper b
(Witl’()ut Books)
Maximum Time: 2.30 Hour -~ Maximum Marks: 100 .

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qamen@m cusms efeumégmer
Read the following instructions carefully before beginning to answer the
questions.
AOTEEE 6@ Nl WeNéss QFHTLRIGLD (LpeiTy S&E6TL. M6 DTS TS
SHEUATLONSL Llg&H&HeLD.

1. This computer based Test contains 100 number of questions in objective
Type.
Qnss saMell aufld Caieumarg), 100 ASTHGM eumsUNeOTsT NGTTHSMETE

Q& ITEToIL ).

2. Answer all questions. Each question carries one mark
Smedg  aNamsasE@eGh Nl wassal @aQeurm eNearmeylh (%
LOHICILETI 2_6nL_Lig).

3 In case of doubt, English version is the Final.
aNemdaeafed sHCHHD  QHUNGTT YRS  aulgailed Qar®&sUuL Berer
eNlems&Ger @m)Sluimen s

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.
Qns eNardsefled QLib QuDMIeTeT syevm LMTeSlsus &eulein QUM & 6m& &erfled
Copemeuligetr,  HWNECHHU  Quetr  UTederrs & eurflsit QUM & 6018 (6T LD
SILRI@GLD.

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

eNeeLLSTIIHET  Sewllefl aufls Caialmne alenlwef&ss QT miELD
et sewnefluflesr  Hemguied Camammild  SM6YMTHMET  SEUSTLOMSL
Ulg &&6)LD.

a) One question will be displayed on the screen at a time.
@Gy Chsded @@ eMerm WLGGW saasd SHaguied G msoTmiLD.



What is the value of One Kilo Calorie?
g HCerm G- gLy ereven?

(A" 4180 Joules (B) 4.18 Joules
4180 yOavssain 4.18 ;O sa

(C) 41.80 Joules (D) 0 doule
41.80 sy Ocbasein 0 5996

Which of the following gas is heavier than air?
Qe (heuaTelHMIET STHEPDEIL SEIDTET UL 6Tg)?

(A) Hydrogen (B) Methane
@ L_IFeenT LB&Cexent
(C) Ammonia (D) CO2
< GLomeflwim SIS L E&(H

Which of the following is the process of transfer of heat?
e peuameudmieT QeuliLF®mS SL-SGILD (LPen GTeure ?

(A) Conduction _ (B) Convection
SL_58| 56V FEOGLD (LPEDM

(C) Radiation (D)’ (A), (B) and (C)
sdielae (e (A), (B) wpmib(C)

The process of transfer of heat in Solids is known as
S LQunmersailer Qeuliugams sLgIb (pepuder Guwit erenes?

(A)4#" Conduction (B) Convection
SL_5HG)|SeV FEOELD (LPED

(C) Radiation (D) (B) and (C)
sdieilge (pevm (B) wpmin(C)

The process of transfer of heat in liquids and gases is known as
Biiomiser wHmib eumyssefled dealiugms sLGgib penpulles LT ereve?

(A) Conduction (B)# Convection
S5L_5G|5e0 FQEITLD (LPEnM
(C) Radiation (D) None of the above
sdliellae (pem @eupmled ergie|bldame
3
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®

6 The transfer of heat by Radiation
asdlraise (parpuld Qeulilgams sLGgIeusNE,

(A) Does not require any medium (B) Require solid medium
oarl_&1b eTgi6b Cgenaludaane AL 2ar_s1b Csenau
(C) Both (B) and (D) (D) Require liquid medium
(B) wpmid(D) @rewr(hin Aol ear_s1b Coana
T. Heat of the sun reaches the earth by?
@Nweier Qeutiu erhs panmuled Liflenw el &ng?
(A)#" Radiation (B) Convection
sdieise (pevm FEOGILD (LPEnD
(C) Conduction (D) Both (B) and (C)
LG50 (B) wpmis(C) Grewm@Hbd
8. The lowest temperature at which a substance catches fire is called as?

e Qurmer § YgéEb G@nhsuls Qauliuflae aaaGaismn i@pssLLRSHDS?

(A) Boiling point (B) Melting point
Qandlblene 2 (& Hlenew

(C)# Ignition temperature (D) Critical temperature
unpereuliL) Cleuliublene WS Geuliublene

9. Limiting the Oxygen is the method of?
opsedlmanar sL_HUURESI6UG) GTETLS] GTEITa (LPEDWMELD?

(A) Starvation (B)# Smothering
Ul lgefl Gur@Bgen SlewTmig S50

(C) Cooling (D) None of the above
CRULEAUCTT: T @eneu g gIb @aame

10. Limiting the fuel is the method of
erQunpener SLHULNSSISED TETLIG)| 6TETEN (LPEDWITEGLD?

(A)” Starvation (B) Smothering
ulgerfl Gur®ge daurmig H&He

(C) Cooling (D) (A) and (C)
e (&) wppid (C) @ren®id

029/DM/21 4



11

12

13.

14.

Which one of the following fire extinguishing media is normally suitable for class "A"
fires?
Gereumid ehs @M SweandEh 2l sb Quigeurs Class-A cams Slloear oi@mass

vweruBssuGE DG ?

(‘A)/ Water (B) COq
i SMTLGTEN L &Hamen (b
(C) Foam (D) NO2

HIENT HEE EBL_TE 6T 60 L HENE (b

Which one of the following fire extinguishing media is normally suitable for "Class-
D" fires?

eeu(pd oThd @ Swamans@h sar s ungens “Class-D” auans Sullenerr jenemnss
Lweru(&sLuBE ng)?

(A) Water B) CO:z
B SMTLIETEL &Hmen (H
(C)#” Powdered Graphite (D) None of the above
Sl .emul grer Gleummled erg)lebene

Fires involving inflammable liquids comes under the category of?
erfluuLdamigw Hreuiisele ghuBL § aps euamsulder &b aimEng?

(A) Class A ® Class B
(C) Class C (D) Class D

Convert 80 degree Celsius to Fahrenheit?
80 1 &l Qedlwev-amen oeLFTemabiiged THmI?

(A)4 176° Fahrenheit (B) 276° Fahrenheit
176° SupreramL 276° SuyprenamL
(C) 376° Fahrenheit (D) 476° Fahrenheit
376° Supmenab 476° S.upresamL

5 According to Boyle's law, which one of the following is correct equation?

15
/QGBTGU@'QJGUIGUQ)QJ@T umufer efduflesiig. erg) efluimen goemm(h?

(A) P1/P2=V2/V1 (B) P1/P2=V1/V2
(C) P1/P2=P2/V2 (D) P1/P2=0
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16.  According to Charles law, which one of the following equation 1s correct?
Sesreu(meuaeummIeT e edldluflemig ergy sflwimen swearum(?

(A)

(B)

©

D)

V1/T1=V2/T2
V1/T1=V2/T2

V1/T2 =V2/T1

V1/T2 =V2/T1

Both (A) and (B)

(A) wpmd (B) @rein®id
V1/T1=0

Y1T1L=0

17. Sublimation is the process of
USBISLOTSH GTGTLIG)

(A)

B)

@y

(D)

a substance changes its state from solid to liquid
@ Qurper S Hlevauilamig dreu Hlaeawdd wrnge
a substance changes its state from liquid to gas

e QummeT Hyeu Hlavaullelmbgl eury Hlened @ wTHIGE
a substance changes its state from solid to gas

e Quinper FL Hlenavulladl(phg) eumu HlepesE mmige
a substance changes its state from gas to liquid

@ Qumnmer auryy Hleneoudelimng B Hlanawas wrmige

18.  Collecting Breechings normally have

Qurgieuns swsigm 19A& M- (Collecting Breechings) @) (HEHEGD?
(A)/ 2 inlets and 1 outlet (B) 2 outlets and 1 inlet
2 o erat@aer wHmid 1 Qeuaflui 2 QeuafluiBser whyb 1 2 drefp
(C) Both (A) and (B) (D) No single inlet and outlet
(A) wHmb(B) Grear@Hn o graf(h wHmb Qeuaflui® ergiaySlaena
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19,

21,

Which of the following statement is correct in respect of AFFF Foam?
AFFF geoy soveneu Qamiumer Geareupibd eunsdlwbisatier ergl sfluimeng ?

(A) # AFFF is more fluid than Protein and Fluoro Protein
AFFF georsomea yysb whmb yCarmGrm 4rs persaamaiamu efll idls dreublae
Clameniq (H&ELWD

(B) AFFF has slow control and extinction properties
AFFF mejsomes Sullear Gogeirs sl (UUBSSHD LOHMD SOE@TEED SeanLo
ClarearLg)

(C) AFFF's contamination resistance is high
AFFF meovrsmeud@ soliul adiling Fmer oidsw

(D) AFFF has slow drainage rate
AFFF meny sewameadss Qugieiner g s el&g Gamar g

Which one of the following statement 1is false?
Gesrau(mLd eunsdwnisafle erg) seupreng?
(A) Protein foam is very stable
T8 euens Hlanfaeamel ifle Blanesgemamind Q& renT_g
(B)  Fluoro protein foam flows more quickly across the fuel surface
LGermGrr Urs euens Henrsael eflangeurs 6riillLimmer Gupurlibé ure|b serenn
GlamemTL_g)
(C)  Synthetic foam has a tendency to mix with the fuel
Qewpens perswae eTllGUTHERLET H&EED S6Tmns CEmamg)
(DY AFFF foam has slow drainage rate
AFFF menrswamal Qugeiner algsmed eldg Camar g

The size of the bubbles of MX and HX foam is determined by?
Qereugpeuareupmier erg MX wpmib HX mianpéelloaaear oerellemen Siomafllsadng?
(A) # By the size of the mesh/net in the foam making equipment

HIeT 2 (heuméGLh &medluile 2 érer cueneuilen siarey
(B) Foam quantity

BT SEneUUdET 2j6Ta
(C) Environment

FDDIGPD
(D)  (B) and (C)

(B) wpmid (C)
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22.  Expansion of foam is determined by?
marsomeaufar elfleursaid ergarmd Sionaflss iuGEng?

(A) Type of foam concentrate used (B) Concentration of the foam solution
LweTU(hGSUUMHLD HIENTeUms meny sevansuuden Clamley

(C) Design of the Branch pipe (D)4 (A), (B) and (C)
dlanar @Lpmuldlen eulgeuld A), (B) wnmb(C)

23.  Which one of the following part, the low expansion foam making Branch Pipe does
not have?
Sipsa_cuhmiar eThg gen Gepeuner pieny eflfleuns@Ld damerd@pruid Geena?

(A) Turbulence Chamber (B) Air inlet Holes
Qarpseailiy e sTHm 2 67 QlFeab glener
(C) Male instantaneous coupling (I\))/Magnetic field
Sp,e8T 2 Laly @enauriil &MMh% L|euLd

24.  Which one of the following feature the medium expansion Foam Making Branch
pipe does not have?
SpsaL ehg @ utsbd BOGsT eflfleunss mer Hoar Grruie Game

(A) Gauze mesh (‘By Impeller
glewtl Gloey ety

(C) Air inlet (D) Diffuser
&STHMm BlampeuTude cilanred

25.  An inline inductor is usually placed in a line of delivery hose at not more than
from the FMB?

QLadaufl Caprev eeeafldr @aarssiul L @@ @amaoda @aGis i FMB Welmbs)
eTeuauaTey QgTenae s E ST meuss L HS g ?

(A) 30m (B) 40m

30 B 40 B
(C 60 m (D) 80m

60 S 80 S

029/DM/21 8



217.

28.

28

Inline inductors working on the principle of?
S sl THhs auams SIS e g LumLuld Garamaar langne. Caime Glewdng?

(A) Gauss Theorem (BY Venturi Principle
grev CaHmDd Qeueig @M s5gieubd

(C) Einstein Theory (D) Universal Principle
sarevie & Camum( wafleuised GQamearens

How does foam extinguishes a fire in general?
QuUTgleUTE BT eTeUeUTNl S SDTES DG ?

(A) Preventing vapour escaping
<6l QUG euamS SHLUILISET LPEILDTE
(B)  Cooling of the fire
enw Gaflredlliuger epeld
(C) TIsolation of fuel from the oxygen in the air
srhhle o erer < sslmamer erilGummeilal b gallamwliLBEse (pevd
D)/ @), ®) and (©)
(A), (B) wpmb(C)

Low expansion foam is the most widely used type of foam because?
@opeunar edfleungb mey s vere] LLELESSUILGD BIETWLTES 2 6Terg) golerefle

(A) It can be projected fairly over long distances
@5 L g11sAHE 368wy LLEHE 2-5ps5TE QHEGD
(B) It spreads fair quickly
cllepeuns LiTe s
(C) It is capable of forming a stable and secure foam
Hlenewimes HOID LIMGISTILITET BI) 2 (HoUTEs 2 &hSS
D) (A), (B) and (C)
(A), (B) whmib(C)

Expansion ratio of high expansion foam lies in between?
<ifle elfleun@d menyuler adllfleum@id ellflgb eremean?

(A) 20 :200 to 200 : 2000 MZOO : 160200071
C) 2:1t020:1 (D) 20 :400 to 200 : 4000
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30. Expansion ratio of medium expansion foam usually lies in between?
WBswrer ellfleum@d mayufler ellfleum@id eflglgib eremen?

(M50:1t0150:1 (B) 40:1to140:1
(C) 30:1t0130:1 (D) 20:1t0120:1
31. Expansion ratio of low expansion foam usually lies in between?

Goneuns eflfleun@gd manruder eflfleurgb edlélgn eresmen?

(A) B2ltel2:1 (BY 8:1t0183:1
(C) 4:1tol14:1 (Dy5:1t015:1

32. The "Maric Valve" is a
GoMé aumede eremiig 6p(h

(A) Storage device (EVMetering device
CelflluLy grgad SaTeiL (D) Fmgeuid
(C) Repeater device (D) Reflector device
B L6 emged Wrdluedl&@Ld srgeid

33.  Which of the following ladder working on the principle of suspension?
Sps&TL 6rhg el OgmhiEh ssgieuddlem apad Cauame CFudng?

(A) Roof ladder (B) Extension ladder
e GeoL i Blig iy erewfl

(C)¢#" Hook ladder (D) Single ladder
Qamad eremfl @hann 6 enfl

34. In Fire Tenders PTO stands for?
Swenard @ aunseadsle PTO eremuig?

(A) Power to Operate (B) Power to open
((‘3)/ Power take off (D) Power to origin

029/DM/21 10



36.

37.

38.

The engine power is transmitted to pump through?
@ansRler Smeir erpetm epevons LDLADHE &L SSLUUGSHDE?

(A) Gear (B)# PTO
S PTO

(C) Primer (D) Control Valve
Qenrorm SLHUUBSSID euTeay

The volume of a circular tank is determined by?
el L auigeu Qamiiyufler sar iere| ergeme SioraflsslL(Sng:?

@ wr*h B) zrk®
© ark D) 7 rh/2

What is the discharge in liters per minute using a 200 mm nozzle with a nozzle
pressure of 4 bar?
200 mm préled 4 bar <ipsssdd 1 AL sHd QeualiGupmbd Sl ereucuerey (SLfflev)

(A) 430 Liters/Minute
430 ALt / B ib
(B) 450 Liters/Minute
450 e / Bldlib
(EJ/ 530 Liters/Minute
53068L it / HBILID

(D) 550 Liters/Minute
550e0C i / Blibl_tbd

In Hydraulics, what is the relation between height (H) and Pressure (P)?
Silweller 2 wrsdn@n (H) . 2(Wwsss8DEWD (P) e Guiwimer Ggm_iiy ereven?
(A) H=P @/H:mp

(C) H=100P (D) P=10H
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39. Power developed by a prime mover is measured by an instrument known?
Qenyid epeui (Prime Mover) @uésssmd o peurssliul L s&dullaer ojerés Liwemu@pb

&(Hel?

(A) Hydrometer (B) Tachometer
eant GrmSLm CL&Gamdlm

(C) Anemometer ('D)/ Dynamometer
e GomBL_ L an_enGmSL_L T

40. What is the velocity of the water issuing from a nozzle when the nozzle pressure is

5 Bar?

Brélé) Si(p&sb 5 bar @m&Ehd umripg QeueiCupplLED Siler Hames Ceusid erenen?
(A) bHlml/s (B) 41 m/s

(C,y 31 m/s (D) 21 m/s

41.  In the water main supplies, the adequate flow will be depend upon?
Grsren Bit gubsald Qmbg Curgiorear i GeuallCupmbd ergeman GLTMISSS?

(A) the diameter of the main (B) the pressure in the main
B g Qufer e ib B g Quiler oi1pdsd

(C) the length of the main D)y (A), (B) and (C)
B gubQufles Bemid A), (B) wpmiw (C)

42.  Which one of the following statement is correct?

EpaserT_cuhmieT eTg) FMwime sapHm?

(A) Positive displacement pumps are capable of pumping both gases and liquids
Griweny @LUQuwite) LbyseT BT HDID euTLbsmeT Glremmanu|b Ceuaflgser@nLd
Hmern Clasmemr_eneu

(B) Centrifugal pumps can pump only liquids
awweiesE LbLser Sraumsmer w B Qeiaflgeresd Hper Clamar meu

((y Both (A) and (B)
(A) wpmb(B) @rewmBid

(D) Nor (A) and (B)
(A) vppb(B) GrearHib Gdame

029/DM/21 12



43.

44,

45.

46.

The main function of centrifugal pump is to
ewwellede ubysefler psdw Lienl

(A) Transfer speed (B) Transfer temperature
Cousgas LIHMSE GleuiLGEns MHMISHeD

(C) # Transfer energy (D) Transfer electricity
<2 HMENE LOTHMISHE) Wengmrsens LomhHmisHeD

In centrifugal pumps the casing converts?
ewweiladE ubusaid Gaelln (casing)-em Liewt?

(f)/ Velocity energy into pressure energy
SensGous LHDML (PSS OOLTE OTHDISED
(B) Pressure energy into velocity
S(PSS phmae FensGeusLons THmIFE
(C) (A) and (B)
(A) wpmb(B) @rewr(Hid
(D) Nor (A) and (B)
(A) wpmb(B) GreT(Hib @evrere

The fluid coming into the centrifugal pumps is thrown outwards by?
abweied@E Lblkaye aumb BT arsen ppawrs Qeueligarariiuhidng?

(A) Nozzle (B) Governor
Bréled &6
(C Impeller (D) Hose
@ wuGude Cammen

Metal strainers are used for
2 Goons aulg L lg T HE LwetU(HEHmg?
(A) # To prevent solid objects
HLUQummarset 2 drGear eumoed SHLLSDHE
(B) To reduce the pressure
DA(PEBEDS GPDUUSDE
(C)  To control over speed
2188 Caussmg s HULESSIBNEG
(D)  To control the flow
B Qusssms s_HLLOSSISDE
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47.  Sheet bend is used for
Sheet bend ergm @ LweTLHEDE?

(A) Medical aid (B)# Joining two lines

W (HSGeU 2 56 @ sulmisemar @eaTLSnE
(C)  Protecting the rope (D) To lift the hose

slHenm LUTESTUILSNE GLTUSE®ET HISGSEUSDG

48.  Cats paw is principally used for?
Cats paw is (pseanowns ergn@ Lwar(Hdms)?
(A) Joining the lines
sullmsener @)enenTLILISDE
(B)  Securing the line and rescue
sulmisemar LUTgISTLILSHEGD LHNID B LgHELD
(C)#" Attaching a line to a hook
Qarsdlufer sulperp @eeliLSNE

(D) Having a baulk of timber
Quiflw wrssl L smer sL_(HeusnE

49.  Which knot is used to shorten the bight of a line?
suimsafler Barsans Gamés LWaTHLD (Pplg&a?

(AY Sheepshank (B) Chair knot
Fligmil Garmpm

(C) Reefknot (D) Figure of eight knot
flpm LB euigeu (Plg.&&:

50.  Which of the following match is correct?
\QeteumeuehnieT FMlime Glene 6rg)?

(A) Class A — Flammable liquids (B) Class B — Solid fires
Class A — erflwdgnlgw Bomiser Class B — i Qum(mer §

(C) Class C — Electrical fires (‘D)/Class D — Metal fires
Class C — Wensnipg & Class D — 2 Gooriss §

029/DM/21 14



53.

Which of the following is not the characteristic of pressure?

el (heuaTeuDMIET 6THS REn) SN(PSSSHDaTeT Gamrdlewd Gdene?

(A) ## Pressure is horizontal to any surface on which it acts
6TIh& (b LTLIAgid 2 drer i(P&sd SuFlineE Sen L oms Qeweu@ib

(B) Pressure at any point of a fluid at rest is of the same intensity in all directions
e Hleoauld, drausdded eabs e Uarellbain CeuduBb HAWESD DoaTHH)
Hengaaflgb s SelTons @ma@ELd

(C) Pressure applied from outside to a fluid contained in a vessel is transmitted in
all directions

Hreud 2arer gpp LnsHrsdlen By Qeuaflufler @mmbg ewbUBD AWPSSD SAmenSHE)
Hanasafla b Lia|bd

(D) Downward pressure of a fluid in an open vessel in proportional to its depth
@6 Sops ursHrsded edar Biwsddr EpCprEE wAWssD LGS
<BPSINEG Cpefldlssdle Qmssd

Which of the following is not the part of breathing apparatus set?
emeuheuaTeuDmIET 6Th e apss smedludler Limab Bdama?

(A) Demand valve (B) Speech Diaphragm assembly
Camf&ens eumae] GULNF @ _Ws oL 17D SigLbLiefl

(C) Pressure gauge (D)4 Thermal sensor
9I(PHHLOTED Qeuliu 2_amwriil

Suction hose is designed to work in a temperature range of between?
B oMerad  @mi  apy Geulu  HloesErsd @aenuled GeweuBnd  aueTERID

Gulg eUeNLOGS LI (heTerg) ?

(A) -15°Cand30°C (B —15°C and 65° C
~15°C wimih 30° C ~15°C whmib 65° C
(C) -=15°Cand100°C (D) -15°Cand 150° C
-15°C wpmb 100° C -15°C wpmb 150° C
15 029/DM/21
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54.  COgz can be liquid condition in the cylinder at?
e Hleveoule srueem. ysevans® Hallar_(mer Hiw Hleneudenr @ mes @uigib?
(A)# About 56 bar pressure at normal temperature of 20°C
&t 56 auaflam e <i(Wpésb wHmib ersmren 20° C deuliu Hlaeudle
(B) About 56 bar pressure at normal temperature of 30°C
& 56 euellaLa oipssb whmib srsmyar 30° C Qeuliu Hlaeuied
(C)  About 56 bar pressure at normal temperature of 40°C
s 56 euafla_e oi&sd womib ergryen 40° C Geuliu flapauded
(D)  About 56 bar pressure at normal temperature of 50°C
& 56 euaflarrLa 2i(sHsd wHmib srgmyen 50° C Gleuliu Hlenaudled

55.  Good foam quality depends on?
Beved ¢(H FlanTullen STLb eTge@me CLIMTMISS! SleOW|LD?
(A) External Temperature
Qeuaflym Geuliuiblane
(B) Good maintenance
o LGRS Hen@ Lmoflése
(C) Current pump pressure of the equipment
gflwime LIDL| (PSHSLD
(D) (B) and (C)
(B) wppi(C)

56. The maximum area covered by a sprinkler in high hazard area is?
ofs @QLiun® Qarare uEHue serer g Hi Asefliurear e <dsules
urtiueteded Qewedu(Hib?

Lf}/ 9m? (B) 2m?

(C) 21m® (D) 42m?

57. Which one of the following is not a type of smoke detector?
19 6t (T eU e DMIET 6TThS 6N LiasWiBlu|ib S(mHell euensemw FTMHSS HHevew?

(A) Beam Detector (B) Ionization duct detector
S g Q&L Slweflwné@b gL
(C)4” Motion detector (D) Optical detector
Guorgen g ClLsL DLIlg &&6 g6l GL T
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58.

60.

61.

62.

Which one of the following gas is lighter than air?
emreu(peuaTeuDmIET 6ThS eumy srhepmesiL. Cegneg)?

(A Ammonia (B) COq

SiGureflwi STUeTeL 2 &ema(h
(C)  Sulphur dioxide (D) Chlorine

FuanL ,damen(H @&Germifl e

Critical temperature of water (steam) 1s
Brreduder wpaflw Qeuliubleney (Critical temperature) eremen?

(A)  274°C @y 374°C
(©) 471°C (D) 574°C

Which of the following buildings is classified to come under the category "Group-B"
as per the NBC-20057?
Caflw sl L L a94) 20056 Liig. Gameu(sLd 6Tfbg euens sLLL b “Group — B” euanaenw sniihss)?

(A) Residential building (B) Institutional building
Glqudliy sl LD Blmieuer &L Lb

(.(y Educational building (D) Industrial building
sereNuNwe s L L b Qamflhsrene &L L LD

Industrial buildings are classified to come under which Group as per NBC — 2005?
Cadlu sl e 20056 Ly Gsrfiperme sl LL ks Maaumb 6hg aumsuien &
cuansIL(HSSLILL (HeTeng)?

(A) Group A (B) Group B
(Cr Group G (D) Group H

In fully sprinklered building the permitted travel distance shall be increased by?
(M sL_LLLD (ppeugib eoldfliart QUImEEILL G HHSTY DS LLGSD AOHEGILTL
Lwen@greavey (Travel Distance) ereueuare| siglaflésomb?

(A 75% B) 25%
(C)p 50% (D) 100%
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63. What is the minimum number of exits required in High rise buildings?
> WMy &g Lkisefld @més Cauamgw gappsulg QeaaflCupbd el (Exit) aggmen?

(A) One (B)# Two
el ODEUC
(C) Three (D) Four
Epem) BITENT(S,

64. As per NBC-2005, the required width of staircases for Theatre Building is?
Cosflwu s L efd 2005emuy HavqugmiE sl msalld Gmés Ceauemmgu Lgs Heaflar

SIHELD GTERIGIETE?

(A) 1m (B) 1.5m
16w 1580
1.75 8L 2.8 L

65. In general, high velocity water spray system is used in?
Qurgleuna HCeaus BT Agefliuimer el (High Velocity Water spray System) e

LweruhidEmg)?

(A) Haystack fires (B)# Fires involving flammable liquids
meusGane Helugg erflyd Brnmsafled erpuBD &

(C) Hut fires (D) Fires involving solid
Glme § aluss) AL iQunLseafld gnu@BD §

66. Which one of the following has high Caloric value?
Qetraumid 6Th el 2iFls sGamfl i 2 e wig?

(A) Anthracite (B)4# Methane
Y BSTTEFL B&Ga e

(C) Charcoal (D) Bituminous coal
S QL flasen Blevda

67. Which one of the following is considered to be High Hazard occupancies?
Deneueuamauniled ids QLrum® Aerar @lLhsarTs &(HUUHuIS) 6Tg?

(A)  Flour mills (By Oil mills
LDITEY <4ENEV&ET GreRT(ol T e ET
(C) Poultry farms (D) Cardamom factory
Camyl Larrene gasstl Cgmphsmama
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68.

69.

70.

71.

The total climbing height of the METZ turn table ladder 1s?
Qe siped Coens ereamtluflen Glomgs ermib 2 WL ereueuaTey?

(A) 15 m (?ﬂ/SO m

15 8L 3080 L
(C) 45m (D) 60m

45 B 60 B

Which one of the following factor need not be mind by the operator while operating
turn table ladder?
s CGuoas gaflou Qusguer geaflllensa Gunigh Curpg Weameumb ebs GeraD
Qurplu®ss Coamal Gerae?
(A)  Stability of the turn table ladder
gpe Cuaneg ganflllien Hlaagseramio
(B) Obstructions around and above the turn table ladder
gL Cuens ganflanw sHil HMID Sige GLoe 2_CT6T HEnL ST
((y Presence of water source in the fire scene
& avgagdd o arer Bit pLpavraiger
(D) State of the ground
ST HETHE G HETENLD

FFFP stands for?
FFFP eremugy)

(A) Foam Film Forming (B) Film Forming Foam Protein
(C)  Film Foam Fluorochemical Protein (E)yF‘ilm Forming Fluoro Protein

Expansion of AFFEF?
AFFF ereugen el flounssin?

(A) Aqueous Film Forming Protein (B) Aqueous Fluoride Forming Foam
((‘J)/ Aqueous Film Forming Foam (D) Aqueous Film Fluoro Chemical

Discharge of fire pumps are measured in LPM. What is the LPM stands for?
Birgmiid euarg Libden Bt QeuallGuihpnd LPM-é eereflliu@épg? LPM arenig) aremen?

(A) Low Pressure mode (B) Long Pressure Mode
(gyLiter Per Minute (D) Low Point Mercury
19 029/DM/21
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73.  What is the equivalent pressure of 15 meter head?
15 B2 wrsdle GananTune (PHSLD eTeme?

(A) 150 bar (B) 15 bar
((3)/ 1.5 bar (D) 10 bar

74.  One Nanometer is equal to
e prGermbifer i eremea
(A) 1x10°m (B) 1x10°m
((3)/ 1x10%m (D) 1x10 “m

75. Name of the operation that is used to raise the Fly ladder of extension ladder by
using Rope or Cable?

B g iy gafllenan suldpman epaid Lener Galany CoGe e WISgISeI&E Guwi ereen?

(A) Tip arc (B) Nested
CRWPEN ¢ 5 @pevL L

(C) Spurs ilyHalyard
GoLifiahy Gapewmi@

76.  The rubber gloves used in fire service are tested under the voltage of
Sueeriiy geopuled LweTUT e 2 @ter FULIT e@swenp eraeare W (PSS

LfCendlasliuBEmg?
(A) 5000V (B.)/ 15000 V
(C) 10000V (D) 240V

77.  Which of the following is non powered equipment?
Sipsam_eupdled e1g) sadullang Guki@d (Non powered) 2 Ligyend?

(A" Hydraulic Jac (B) Hydraulic Cutter
enanL_medlds syms enanL_ymedld sL_L T

(C) Hydraulic spreader (D) Chain saws
evam_gmedld ol L Qeudler agm

78. LPG is a chemical mixture of

LPG eremuig

(A) Ethylene and acetylene (B) Methylene and phenol
erHedlar HmID 1 iq el Qgsefen HMILD « oL Tamed

((y Propane and butane (D) Hectane and acetone
UGrmiGuen womb G CLen Qan&GLem whmitd <& GLmed
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79,

80.

81.

82.

83.

Floor Area ratio (FAR) 18

ST LGS elgLh

(AV FAR = Total covered area of all floors / Plot area
(B) FAR = Build up area / Plot area

(C) FAR = Plot area / Total Covered area of all floors
(D) FAR = Plot area

As per NBC—-2005 multiplex mall comes under the classification of
Coflw UL L efldl - 2005ar Lig. ey LiaTéen cuarllsauaTTEhsET 6hs euamsudlen S aupdmg?

Ay D6 B) DI

(C) D2 (D) D4

Measurement of Accleration is (in SI units)

pBésb erausumm Setell L@ ngl (SI sieraysafla)

(A)  m/sec B) m?*/sec
(Cy m/sec’ (D) m xsec

In Air Lifting bag, inflatable bag is usually made upon by
g dligr  eusalld 2dar  @emn.lGalL e @usear  Curgieuns  erpeanma

2 (HEUMSSLILILL_6el?

(A) Normal rubber (B) Plastic
FMGMTERT FUILIT Germevig &
(C)ff Neoprene (D) Metal
B Gun9fen o Goonslb

Which one of the following is correct about the type of P.T.O. in Fire Pumps?
Sueen iy aunsasafley 2 drar P.T.0. eflern ecuamssafles arg) afluimang)?

(A) P.T.O. from the gearbox
P.T.O. from the gearbox
(B) P.T.O. from the Drive shart to the gearbox
P.T.O. from the Drive shart to the gearbox
(C) P.T.O. from a transfer box
P.T.O. from a transfer box
(Dy (A), (B) and (C)
(A), (B) wipmtb (C)
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84. In communication V.H.F. means
soaud uflbmhnse V.H.F. eranuig) eremen?

(A) Variable Height Frequency (B) Variable Hour Frequency
((y Very High Frequency (D) Very High Fluctuation

85.  The very initial process required to the persons exposed to Chemical accident.
@remuen elusSd LTHESILLL @HeuBEE 2L angwns wpgedled teliw Gy w &&éms

apenD

(A)4 Cleansing (B) Medical First Aid
5(6YSED DBSGI PEDSE

(C) Undressing (D) Surgical procedure
<D L_FHENET <& (D) &eD Simeneu S&lsans

86. Which one of the following is not a metal cutting equipment
Qeunhle org) 2 Coorasdans Ceul L Te GemeumLLd

(A) Oxy-acetylene equipment (B) Oxy-Propane equipment
p&edl - 8 slefl <p&ed - HErhGuer semeumt b

(C)4 Chain saw equipment (D) Hydraulic cutter equipment
QFudle eum SaTeurLLb emanL_[medlé &L LT SemeumL_Lb

87.  Which one of the following is not a part of turntable ladder vehicle?
Spsa ahg penn oG el oy uler LG Siha?
(A) Trannion (B) Fulcrum Frame
(C) Swinging Frame (Iy Imaging Sensor

88.  Which one of the following is the objective of compartmentation in building?
Epsa_eupner s gL s@s UGHUDSSIsla Chnésid 61g)?
(A) To prevent rapid fire spread
Nenyauns & Lurejeuans &HES
(B) To reduce the chance of fire becoming large
A, § QumbSwrs wIYeImS HeNTES
(C;)/ Both (A) and (B)
(A) wpmd (B) &
(D) To reduce the travel distance
UWETHITENS &M DEE
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20.

91.

02.

93.

94.

Which one of the following not to be used for access the building during Fire
Accident?
8§ elugHe sligL_Sag emi@eusHE Werelmeuameuniled 61bg eam LI (hdsdal Mg)?

(A Lift (B) Fire Fighting Shaft
0l SwienentliL|g et (h)

(C) Staircase (D) Extension ladder
Uig&&L (5 BLUigli eremfl

Basically an air conditioning system consists of
g LI 196 @ it ey agelin el derar@earearg eigl?
(A) Fans for moving the air
STHEN HETEHEUSDEHTEN @) DEHEDESET
(B)  Filter for air cleansing
srHenm &HSUHSSID g &L Ly
((‘Dy Means for humidifying and warning the air
STHedD FIULIHSSELD @ _TEHe|LD 2 GTL 160 <HEnLOLIL|EeT

D) A), (B) and (C)
(&), B) wpmd(C)

2

Which of the following temperature will be low for a substance
em@urmaiern ereuheuarelDmieT e Geuliublane WBlas@mpbss?

(A)y Flash point (B) Fire point
Yermeig Limuldlagr L LimuSessr

(C) Ignition Temperature (D) (A) and (C)
Gt e Limulleser (A) wpme(C)

What is the Halon no of BTM?
BTM-—ér Gameven eragor 6T enien ?

(A) 1001 (B) 1011
(53/ 1301 (D) 1211

What is the expansion ratio of COz2?
CO:2 wenamriiunafley eflfleuent_ujb eN&lFD eremen?

(A) 550:1 B) 305:1

Q) 260:1 (Iyélt")o |

Abbreviation of RPM

RPM -ar eflfleunésin

(A) Rotate Position Mode (B) Rotate Pressure Mode
(C) Rotate Pump mode (D) Revolution Per Minute
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LA

95.

96.

97.

98.

99,

100.

Normally how many outlet in the portable fire pump?
Adlw cuens LbLseflle ergsamar CQL_aleul aumee|ser 2 arare?
WE B) 3

© 4 D) 1

What is the usual coverage area for ionization detector?
Qurgleuns Sweflwnés ser(B g Lurefer LTl eree?

(A) 1000 square meters (B) 10 square meters
1000 sgypSi it 10 eguy Blm

(C)4# 100 square meters (D) 1 square meter
100 ggmbl i 1 ggyy B

Abbreviation of CABA?

CABA-ar eflfleunésid

(A) Compressed Air Breathing Appliances
(B) Compound Air Breathing Apparatus
(C) Compound Air Breathing Appliances
([y Compressed Air Breathing Apparatus

The rubber and neoprene components of breathing apparatus are
deteriorate as a result of exposure to which of the following?

liable to

Wereumeuaaupiled  ergen  Qeuaflium e  efleereurs  seuness@meuiian TUUT  LOHMID

BCwmAfen samaer GorewenL dlermen?

(A) Aggressive chemicals (B) Ozone
SeSlTome @) 78T hISET @Game

(C)  Sunlight (DY (A), (B) and (C)
&L gof (@), (B) whpid(C)

Which of the following is an important safeguard for Breathing Apparatus wearers?
seungs smedadr afluauTaErsE pddwwrar urgsmlieu enea(bLd 618 HHADg)?

(A) Distress sign unit (B) Distrub signal unit
lg evL_yev enge wpefll g GVL_TL) GnF6I UpediL
(C)4" Distress Signal unit (D) Distress singing unit
gL e Sléemed whel g evL_ye Slrudlm wpefl
Abbreviation of BHP
BHP cresuges eflifleundesio
(A) Brake Hose Power (Bﬁrake Horse Power
(C) Brake Hose reel Power (D) Break Hose Box
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